ERRAROBEBIFRT — 2 XN—IBISH—F 20126108148 (H) 12EI4EL4A8

m'd‘ LIS sA2 Y5%—HK (w8 | imEmml - |5 5) wom
[A&4£] 1% :300,000” ~ 23#%:60,000H” ~ 337%&:30,000H” ~ 47%&:1500MH  5&:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R # o6 | FEHR 1:58.9 4-3-1-1 [38.3| — 1 471 | EARE— (18IL)
1 6 Hv—XE— K 56.0 (=) (1) %IIIEﬁ?-E
Rixg—Yrya-x BAITIILANL 4
RS ETR 4 6 | IERESEI 1:59.4 2-2-1-1 [38.9| — 6 480 |IOFEE (EIL)
2177 I/(/ VAyPI% 56.0 (2 1/2) () |BEAERE )
LNTVALTzA—- B:Favoha<)—> ESliEe
NS s 7 | tEsd 1:59.6 5-5-5-4 | 38.6| — 4 426 | HEILTESE (FRIL)
3|55 E-E=1N1Z 54.0 (1) G |mEE
R:TTyIk—9 BTLRLYIN R4S
. N LI B 1 : —7-6- — A _— (fal)
A REEDE Y = io4 e 1.(519).8 7-7-6-5 | 38.3 3 (4:;21) i
LY by THY BEYRTUSEZ E/FTr— I
= —p . FFEH :00. 87— . — EAE— (1R
N REESEOREE # 4 | B8 2t | ETe | B 2 | Bk
L:7V%tx B:a2qxO¥UF J—=HrTp—L
=5 _ -5 B4 | EREE 2:00.5 3-4-4-3 [39.6| — 8 420 | BAE— ({EL)
6 3|773-73FF 54.0 (1/2) () | AARER :
RYITTLIFL N BTTFFA A
. . BEACER . 67 — FREAASE (&L
AR RRREAS S - - 2'&])'3 6678 1399 ! gs) zﬁfr‘f@%?& :
R:RE—ATAV—> BILHLRTIA BMEAZZY K
o ZHREX : -1-3- - SHBEER (1EWL)
alglg|EIL/A—Tz ok i 6 = 2.(042).1 1-1-3-7 | 41.7 5 %;) THBE
Ry IVAINZ BEILTET L VENIPS
@ 1—F—@&BIEf
i3=3r= 8,7,3,6,5,1,4,2
20—F— 8,7,6,3,5,1,4,2
30—7+— (6,7),8,3,5,4,(1,2)
41 —F— (6,7),3,5,4,2,8,1
[ RN
B OB 6 130M 714K 6-7 350 B E 6-7 530/ &R 5-6-7 1,080
7 B 6 120 5-6 0™ | | B B 6-7 670 | | SHEE 6-7-5 2,870M
7 150/ 5-7 880
5 250M

ABICOVWTRDTEEERROODE. TR LIV,



